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21. (a) 3000 =  x 2 x  x 6370 cos 30o M1
     	= 31.15o A1
    (b) (i). . dist = speed x time
		= 600 x 5 M1
		= 5000 nm
		3000 = 60 cos 60o M1
		 = 
		= 100o
		K = 100 - 45 = 55oE A1
			Q (60o, 55oE)
(ii). longitude diff  = 55 + 45 
   = 100o
        Time =  100 x 4 min
     = 6 hrs 40 mins
Time at Q = 10.45 – 6.40
     = 4.05 am
Arrival at Q = 4.05 + 5.00
= 9.05 am
c).Q = 180o – 2 (30)o
   = 120o
Distance = 60Q
   = 60 x 120
  = 7200nm
OR in KM
 =  x 2 x  x 6370
= 13,346.67KM
[bookmark: _GoBack][image: C:\Users\MR KOECH\Desktop\2022 T2\MATHS P1 14.jpg]


[image: C:\Users\MR KOECH\Desktop\2022 T2\MATHS P1 15.jpg]
@Copyright Arise and Shine Trial  Exam		Page 14 of 14

image4.jpeg
T

—

— 004 = —I/oC -

9‘ "?Q_;_Z-—L/Z-?
|

. t
0’(" = X
- e ———

6 = @L»lﬂ(o«t&)g@?,. Z

0-brs (06

= 7+ —3L40he—

0-024F

—2%<. q02f

\ne





image5.jpeg
Ptz

_.\.Q_Lq_ﬁ.&‘-lr{c-—?&—'z') Lo, bo [¥h,
= « —
X i iy = 1wy MQA’,,,L T bl & "k
X=7 oo X= "(o 42
= s
2. 2x b/ =02 I
T
=y -~ |Va
%9 '
13) SA(ZM—%&I D
Fx the{ 2 ").‘150;3‘/.\?
= ix = "?\ 10 1 333
A= —La’ 3? o
X =32 ad Iif /&
RIS
L xrx n ey =3 |
(g 1) + [y -!—9_\2" 3+t V'MW
i \J |
(X-2 £y =4 vn
____mh(a_,—_v)_aM«f &




image6.jpeg
A’(S“:L’:EE ;L
q

hot—ale) 2l o -

8 TN
Y
™M
o —= z — 1 H! "
- X& i"\!‘;
b v %, S
3 to ) £
B





image7.jpeg
AN T T Puwe R R TR IRRTRAL N X R
| > - 1 el oyt
_(D | fo+t =7\ CHel=v /| al>= M
K 4!{-,(—-%2_&;_ i’(«"ﬂ:}LT g+ >
e E K
atus=7 /.. p '
Shat-bhadet 7 oo =
Aa =27 4osf | (5 b=, [2 2
o, et o)™ kLl

N L
AN |t 240) = /2 2
&\, 0)(5 o/ {3+O -~ S } /; |-
<=2 2} Via
‘3 ) }
|





image8.jpeg
gD_QLﬂ& _raddpeiat | Hef |d IM\fd Ad e

N g ,ﬁ = ,c_,_ —2s . .
A QQ:M—____Z:_‘__L___L(L_._ =200 | 4N __Z_bL"’S_ VRS
N @"5 Ta | _ic Lizg [zac h7%ag Ja5)
| = =23 < I,-N ~50 :m) At =
55’3;1 27 : 7 l = .
< M 7 Q 734
F 5 /).s !,'5 63
Lo 7 17 L laes | ¢
[ 120 LLJA N mﬂ ¥ .
”‘? ° (Ze00 | 1]
2 ([l | Lok |2125 b

30 [ 2o | 9oy |Jewo \ (00

J 77T~ A 7 75> R
45





image9.jpeg
4o 1o |90 (12018 tgo |2-\0
067 |00 ] 03> |08V |-0'8T |~1wo | -O%7
4D [260 P00 |2 bo [Icso 0700 =l + £

N
S~
v

od Twe et

(C) Cost —Binu — O
e > 1

v TR AP ;





image10.jpeg
L

e}

et





image11.jpeg
10\ gq/l‘l = Q,d(-'zq ——;‘\) J'77,L([ -—k).
= ,/ "14,“&'\ 94T A ; : P
v b2 k= 2 Sk ym)
a A‘L ¥ Ll . 7 r
=, ) =2 +5h . —
W o
P T T ——
I b o= 2 -2 |
u) Qg'afiatg 1: = 7 ¥
k= £— £h
A = b -a i e
:i-ka{L_.n\i => 2 +5h=xX-%h
]7 . 12h ::Q
c bagob. . _ |/ h=ty o M
= 2 &
: S
’/
W M= pb -2 — 4 ie, o
D | Ab —libtn . ) Av = =9a +vb /8,
< T - UEN 12 [
Ar—che - .
AD = AT |
AT = —a ¢+l/b ’
AD =2 —ka +) kb -— -(;)',,l
g [
B Ad = o 48 ¢k (-72-7} (#A)
L :'l. “ [
. 27}(&—&) -‘!'77 3 A |
A R
% ”. o





image12.jpeg




image13.jpeg
15

—r0-3P -
(a) v —10(0)- (3
Bl
=—75mis L
b =2 v=t0: -3¢ { Ml
Al
vV=10(3)-3(3)° - 2
=18 mls
—1
1 s=[; (mt— t )dt

e [xce _g_gﬁs‘i VM

¢ 3
: ‘fnc]:
6 2

o - 29)-

§= [sé

s : &2 4))]\#7”1'

¥ 'velocity (award BO for
wrong units)

v'substitution
v velocity (award AQ for

WIong units)
vlimits

v'integral

attempt to subst. & subtr.

& [(66 ;) 2 (30%)] g ‘//’_—; M, fort=10s
; v'subst.
= 275 - - = Al | Yvelocity (award AQ for
WIONg units)
(d) azfr=0-t >

B o M s

V= '.0‘:10} = (10)’ - ? )
&

~ g, e

L2 =

10





image1.jpeg
mzmo - v
ioo}L =7
1’09_,( 210 = [78 - | A
|20
| ]| &°
e e b
f
- 175 \
s~ N2y p
N s o bt il
2 IVis(5+55) Jz B-G) 7
e / 7
(|4
Z N L
5G4 3{C i3 +-3I¢
—2
bis Sl el o= -
o i
N
ACH — A1'
D A=l 1ty )
P T
v
:2:200000(!1‘1{‘0)1, 3 !/M'
- oooo X |+ 307760
—sh 2621920 /i
[Tatereot™= 26 159, H~deowo
= shy 627sz — s 8')





image2.jpeg
”

PIre= (b42)d —  ~ | iy
<1 bb = 16 im
B
12 = x
Gty 5
[ fow ; a."
WP L ad
gf“ — .q— y&_’
a.—q. ‘ 4
wf:.-cr
eet3 - ‘/ﬂ
Dege .
ﬁ) prngome o L
@
'Plc',"“q“/: — M o e '/Ali
2(32-n) = -m
= —:_ﬂ_ e — «/k;
PL
Pl p=ke’
Z F o r -—
12 SR
P‘f— SUERASN -y





image3.jpeg
2

S Lo

= (4—vsL—18)

= AdBar qgl/mml—:





